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Code and description: 

 

1. Linear traversal method: 

 

 

 

At first, we initialize the task_struct structure, which includes the contents of the 

operating process. Then, we use the for_each_process function to iterate through all 

the tasks, and print out the contents in the kernel load buffer. 

 

2. DFS method: 

 



 
 

In this part, we use DFS algorithm to find all the tasks. At first, we initialize the 

task_struct structure as same as the previous part, then use the recurrence relation to 

keep finding. For a current node, we find its children until the end, and then do the 

same tracing for the siblings. At the end, we could find out all the tasks with the DFS 

arrangement. 

 

 

Execution results: 

 

Linear traversal method: 



 

 



 

 



 

 



 

 

DFS method: 

 

 



 

 



 

 



 

 


